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QUESTION 1

While trying to restore a recovery point, an administrator is prompted for a password that has been forgotten. 

How can the administrator access the recovery point? 

A. They must call Symantec Enterprise Support. 

B. They must call Symantec Customer Care. 

C. They must supply the correct password. 

D. They must reinstall Symantec Backup Exec System Recovery 8.5. 

Correct Answer: C 

 

QUESTION 2

Which utility is used to run risk analysis? 

A. Configuration Checker 

B. VxExplorer 

C. hagetcf 

D. Windows Data Collector 

Correct Answer: D 

 

QUESTION 3

Which user account role allows a user to run jobs, disable or enable jobs, troubleshoot, and/or add licenses to
computers? 

A. Power User 

B. Download All 

C. Execute Access 

D. Read-only Access 

Correct Answer: C 

 

QUESTION 4

Which two actions does dynamic disk group split and join enable? (Select two.) 
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A. moving LUNs between disk groups 

B. joining two volumes between two sites 

C. moving disks between volumes 

D. joining disk groups between two servers 

E. performing offhost processing for backups 

Correct Answer: AE 

 

QUESTION 5

What is the default SCSI protocol setting in Veritas Storage Foundation for Windows when a Microsoft Failover cluster is
installed in a Windows Server 2008? 

A. iSCSI 

B. SCSI-1 

C. SCSI-2 

D. SCSI-3 

Correct Answer: D 
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